



PRESS RELEASE

WEEKLY PRESS RELEASE ON TREASURY SHARES BUYBACK PLAN

Cernusco Lombardone (LC). *October 6, 2025* - Technoprobe S.p.A., a leading company in the design and production of probe cards (the "**Company**" or "**Technoprobe**") listed on Euronext Milan, declares the purchase on the Euronext Milan market, according to the Shareholders' Meeting on July 10, 2025 approval and initiated by the Board of Directors on July 23, 2025 (already object of informative also according to art.144 bis of the Consob Regulation 11971/99 and art. 132 of Legislative Decree no. 58/98), in the period from September 29, 2025 to October 3, 2025, of n. 284,611 ordinary shares (equal to 0,04357% of the share capital) at the weighted average price of Euro 8.398 for a total value of EUR 2,363,214.76.

Purchases were made through the intermediary Intesa SanPaolo S.p.A.

Below there is a detail of the purchases made on the ordinary shares of Technoprobe S.p.A., code ISIN IT0005482333, on a daily basis, in detail, the transactions made in the aforementioned period.

<u>Date</u>	Quantity	Average price (Euro)	Countervalue (Euro)
29/09/2025	120,000	8.38383	1,006,059.60
30/09/2025	2,611	8.36	21,827.96
01/10/2025	160,000	8.23817	1,318,107.20
02/10/2025	2,000	8.61	17,220.00
03/10/2025	0	///	///

The details of all the purchase transactions carried out in the period indicated above are reported in the following pages.

Therefore as at October 3, 2025 the Company owns 10,539,872 ordinary shares (equal to 1,61342% of the share capital).

This press release is available on Technoprobe's website https://www.technoprobe.com in the Investor Relations section and on the authorized storage system named eMarket Storage" (www.emarketstorage.it).







Contact

Technoprobe S.p.A. Investor Relator

Investor Relator Ines Di Terlizzi

Email: ir@technoprobe.com

Technoprobe S.p.A.

Communication & Marketing Manager

Paolo Cavallotti

Email: paolo.cavallotti@technoprobe.com

Technoprobe Group

Technophobe is a leading company in the field of semiconductors and microelectronics. Established in 1996. Technoprobe is focused in the design and manufacture of Probe Cards. i.e. electro-mechanical interfaces used for the functional testing of chips. Probe cards are hitech devices that are custom-made for each chip and allow the function of chips to be tested during the manufacturing process. These technologically-advanced designs and solutions are essential for ensuring the proper functioning and reliability of devices that play a crucial role in industries such as Information Technology. 5G. Internet of Things. home automation. automotive. aerospace. etc. Technoprobe headquarters are in Cernusco Lombardone (LC). Since May 2nd. 2023 shares have been transferred to Euronext Milano segment. For more information. visit the website: www.technoprobe.com







Fill ID	Fill Date	Fill Time	B/S	Country	Market	Security Ref.	Fill Price	Fill Qty	Eur
1ZAZI7ZYK	29/09/2025	10:00:50	Buy	IT.ico	MTA	TPRO	8.395	120	1007.4
1ZAZI7ZYL	29/09/2025	10:00:50	Buy	IT.ico	MTA	TPRO	8.395	588	4936.26
1ZAZI7ZYM	29/09/2025	10:00:50	Buy	IT.ico	MTA	TPRO	8.395	122	1024.19
1ZAZI7ZYN	29/09/2025	10:00:50	Buy	IT.ico	MTA	TPRO	8.395	162	1359.99
1ZAZI7ZYO	29/09/2025	10:00:50	Buy	IT.ico	MTA	TPRO	8.4	85	714
1ZAZI7ZYP	29/09/2025	10:00:50	Buy	IT.ico	MTA	TPRO	8.4	942	7912.8
1ZAZI7ZYQ	29/09/2025	10:00:50	Buy	IT.ico	MTA	TPRO	8.4	127	1066.8
1ZAZI7ZYR	29/09/2025	10:00:50	Buy	IT.ico	MTA	TPRO	8.4	3,168	26611.2
1ZAZI7ZYS	29/09/2025	10:00:50	Buy	IT.ico	MTA	TPRO	8.405	141	1185.105
1ZAZI7ZYT	29/09/2025	10:00:50	Buy	IT.ico	MTA	TPRO	8.405	526	4421.03
1ZAZI7ZYU	29/09/2025	10:00:50	Buy	IT.ico	MTA	TPRO	8.405	1,019	8564.695
1ZAZI7ZYX	29/09/2025	10:00:57	Buy	IT.ico	MTA	TPRO	8.395	164	1376.78
1ZAZI7ZYY	29/09/2025	10:00:57	Buy	IT.ico	MTA	TPRO	8.4	130	1092
1ZAZI7ZYZ	29/09/2025	10:00:57	Buy	IT.ico	MTA	TPRO	8.4	598	5023.2
1ZAZI7ZZ0	29/09/2025	10:00:57	Buy	IT.ico	MTA	TPRO	8.4	849	7131.6
1ZAZI7ZZ1	29/09/2025	10:00:57	Buy	IT.ico	MTA	TPRO	8.405	688	5782.64
1ZAZI7ZZ2	29/09/2025	10:00:57	Buy	IT.ico	MTA	TPRO	8.405	889	7472.045
1ZAZI7ZZ3	29/09/2025	10:00:57	Buy	IT.ico	MTA	TPRO	8.405	1,086	9127.83
1ZAZI7ZZ4	29/09/2025	10:00:57	Buy	IT.ico	MTA	TPRO	8.41	940	7905.4
1ZAZI7ZZ5	29/09/2025	10:00:57	Buy	IT.ico	MTA	TPRO	8.41	1,656	13926.96
1ZAZI7ZZ8	29/09/2025	10:01:02	Buy	IT.ico	MTA	TPRO	8.39	200	1678
1ZAZI7ZZ9	29/09/2025	10:01:02	Buy	IT.ico	MTA	TPRO	8.395	123	1032.585
1ZAZI7ZZA	29/09/2025	10:01:02	Buy	IT.ico	MTA	TPRO	8.395	1,439	12080.41
1ZAZI7ZZB	29/09/2025	10:01:02	Buy	IT.ico	MTA	TPRO	8.4	200	1680
1ZAZI7ZZC	29/09/2025	10:01:02	Buy	IT.ico	MTA	TPRO	8.4	139	1167.6
1ZAZI7ZZD	29/09/2025	10:01:02	Buy	IT.ico	MTA	TPRO	8.4	1,119	9399.6
1ZAZI7ZZE	29/09/2025	10:01:02	Buy	IT.ico	MTA	TPRO	8.405	123	1033.815
1ZAZI7ZZF	29/09/2025	10:01:02	Buy		MTA	TPRO	8.405	1,123	9438.815
1ZAZI7ZZG	29/09/2025	10:01:02	Buy	IT.ico	MTA	TPRO	8.41	2,534	21310.94
1ZAZI7ZZK	29/09/2025	10:01:10	Buy	IT.ico	MTA	TPRO	8.39	200	1678
1ZAZI7ZZL	29/09/2025	10:01:10	Buy	IT.ico	MTA	TPRO	8.395	125	1049.375
1ZAZI7ZZM	29/09/2025	10:01:10	Buy	IT.ico	MTA	TPRO	8.4	114	957.6
1ZAZI7ZZN	29/09/2025	10:01:10	Buy	IT.ico	MTA	TPRO	8.4	1,181	9920.4
1ZAZI7ZZO	29/09/2025	10:01:10	Buy	IT.ico	MTA	TPRO	8.405	200	1681
1ZAZI7ZZP	29/09/2025	10:01:10	Buy	IT.ico	MTA	TPRO	8.405	126	1059.03
1ZAZI7ZZQ	29/09/2025	10:01:10	Buy	IT.ico	MTA	TPRO	8.41	5,054	42504.14
1ZAZI7ZZU	29/09/2025	10:01:18	Buy	IT.ico	MTA	TPRO	8.39	60	503.4







1ZAZI7ZZV	29/09/2025	10:01:18	Buy	IT.ico	MTA	TPRO	8.395	200	1679
1ZAZI7ZZW	29/09/2025	10:01:18	Buy	IT.ico	MTA	TPRO	8.4	1,224	10281.6
1ZAZI7ZZX	29/09/2025	10:01:18	Buy	IT.ico	MTA	TPRO	8.4	42	352.8
1ZAZI7ZZY	29/09/2025	10:01:18	Buy	IT.ico	MTA	TPRO	8.4	122	1024.8
1ZAZI7ZZZ	29/09/2025	10:01:18	Buy	IT.ico	MTA	TPRO	8.4	622	5224.8
1ZAZI8000	29/09/2025	10:01:18	Buy	IT.ico	MTA	TPRO	8.405	134	1126.27
1ZAZI8001	29/09/2025	10:01:18	Buy	IT.ico	MTA	TPRO	8.405	584	4908.52
1ZAZI8002	29/09/2025	10:01:18	Buy	IT.ico	MTA	TPRO	8.41	4,012	33740.92
1ZAZI800E	29/09/2025	10:01:30	Buy	IT.ico	MTA	TPRO	8.4	17	142.8
1ZAZI800F	29/09/2025	10:01:30	Buy	IT.ico	MTA	TPRO	8.4	120	1008
1ZAZI800G	29/09/2025	10:01:30	Buy	IT.ico	MTA	TPRO	8.4	162	1360.8
1ZAZI800H	29/09/2025	10:01:30	Buy	IT.ico	MTA	TPRO	8.405	163	1370.015
1ZAZI800I	29/09/2025	10:01:30	Buy	IT.ico	MTA	TPRO	8.405	1,132	9514.46
1ZAZI800J	29/09/2025	10:01:30	Buy	IT.ico	MTA	TPRO	8.41	11,744	98767.04
1ZAZI800K	29/09/2025	10:01:30	Buy	IT.ico	MTA	TPRO	8.41	1,254	10546.14
1ZAZI800L	29/09/2025	10:01:30	Buy	IT.ico	MTA	TPRO	8.41	10,000	84100
1ZAZI800M	29/09/2025	10:01:30	Buy	IT.ico	MTA	TPRO	8.41	408	3431.28
1ZAZI85PO	29/09/2025	14:44:33	Buy	IT.ico	MTA	TPRO	8.355	164	1370.22
1ZAZI85PP	29/09/2025	14:44:33	Buy	IT.ico	MTA	TPRO	8.355	188	1570.74
1ZAZI85PQ	29/09/2025	14:44:33	Buy	IT.ico	MTA	TPRO	8.355	153	1278.315
1ZAZI85PR	29/09/2025	14:44:33	Buy	IT.ico	MTA	TPRO	8.36	962	8042.32
1ZAZI85PS	29/09/2025	14:44:33	Buy	IT.ico	MTA	TPRO	8.36	5,297	44282.92
1ZAZI85PT	29/09/2025	14:44:33	Buy	IT.ico	MTA	TPRO	8.36	4,703	39317.08
1ZAZI85PU	29/09/2025	14:44:33	Buy	IT.ico	MTA	TPRO	8.36	533	4455.88
1ZAZI85SC	29/09/2025	14:49:07	Buy	IT.ico	MTA	TPRO	8.345	3,000	25035
1ZAZI87GM	29/09/2025	15:49:47	Buy	IT.ico	MTA	TPRO	8.355	81	676.755
1ZAZI87GN	29/09/2025	15:49:47	Buy	IT.ico	MTA	TPRO	8.355	150	1253.25
1ZAZI87GO	29/09/2025	15:49:47	Buy	IT.ico	MTA	TPRO	8.36	162	1354.32
1ZAZI87GP	29/09/2025	15:49:47	Buy	IT.ico	MTA	TPRO	8.36	1,145	9572.2
1ZAZI87GQ	29/09/2025	15:49:47	Buy	IT.ico	MTA	TPRO	8.36	156	1304.16
1ZAZI87GR	29/09/2025	15:49:47	Buy	IT.ico	MTA	TPRO	8.36	4,890	40880.4
1ZAZI87GS	29/09/2025	15:49:47	Buy	IT.ico	MTA	TPRO	8.36	1,335	11160.6
1ZAZI87GT	29/09/2025	15:49:47	Buy	IT.ico	MTA	TPRO	8.36	2,081	17397.16
1ZAZI8A3S	29/09/2025	17:21:49	Buy	IT.ico	MTA	TPRO	8.345	162	1351.89
1ZAZI8A3T	29/09/2025	17:21:49	Buy	IT.ico	MTA	TPRO	8.345	972	8111.34
1ZAZI8A3U	29/09/2025	17:21:49	Buy	IT.ico	MTA	TPRO	8.345	1	8.345
1ZAZI8A42	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.35	986	8233.1
1ZAZI8A43	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.355	142	1186.41







1ZAZI8A44	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.355	250	2088.75
1ZAZI8A45	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.355	171	1428.705
1ZAZI8A46	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.355	880	7352.4
1ZAZI8A47	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.36	175	1463
1ZAZI8A48	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.36	937	7833.32
1ZAZI8A49	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.36	834	6972.24
1ZAZI8A4A	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.365	187	1564.255
1ZAZI8A4B	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.365	1,030	8615.95
1ZAZI8A4C	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.365	5,593	46785.45
1ZAZI8A4D	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.365	5,572	46609.78
1ZAZI8A4E	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.365	641	5361.965
1ZAZI8A4F	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.365	5,002	41841.73
1ZAZI8A4G	29/09/2025	17:22:02	Buy	IT.ico	MTA	TPRO	8.365	2,600	21749
1ZAZI8A5B	29/09/2025	17:22:20	Buy	IT.ico	MTA	TPRO	8.36	200	1672
1ZAZI8A5C	29/09/2025	17:22:20	Buy	IT.ico	MTA	TPRO	8.36	103	861.08
1ZAZI8A5D	29/09/2025	17:22:20	Buy	IT.ico	MTA	TPRO	8.365	2,423	20268.4
1ZAZI8A5E	29/09/2025	17:22:20	Buy	IT.ico	MTA	TPRO	8.365	157	1313.305
1ZAZI8A5F	29/09/2025	17:22:20	Buy	IT.ico	MTA	TPRO	8.365	84	702.66
1ZAZI8A5G	29/09/2025	17:22:20	Buy	IT.ico	MTA	TPRO	8.365	898	7511.77
1ZAZI8A5K	29/09/2025	17:22:26	Buy	IT.ico	MTA	TPRO	8.365	200	1673
1ZAZI8A8A	29/09/2025	17:24:37	Buy	IT.ico	MTA	TPRO	8.365	610	5102.65
1ZAZI8A8B	29/09/2025	17:24:37	Buy	IT.ico	MTA	TPRO	8.365	4,190	35049.35
1ZAZI8RG4	30/09/2025	17:20:47	Buy	IT.ico	MTA	TPRO	8.36	46	384.56
1ZAZI8RG5	30/09/2025	17:20:47	Buy	IT.ico	MTA	TPRO	8.36	469	3920.84
1ZAZI8RG6	30/09/2025	17:20:47	Buy	IT.ico	MTA	TPRO	8.36	49	409.64
1ZAZI8RG7	30/09/2025	17:20:48	Buy	IT.ico	MTA	TPRO	8.36	935	7816.6
1ZAZI8RG8	30/09/2025	17:20:49	Buy	IT.ico	MTA	TPRO	8.36	139	1162.04
1ZAZI8RG9	30/09/2025	17:20:50	Buy	IT.ico	MTA	TPRO	8.36	88	735.68
1ZAZI8RGB	30/09/2025	17:20:50	Buy	IT.ico	MTA	TPRO	8.36	181	1513.16
1ZAZI8RGC	30/09/2025	17:20:50	Buy	IT.ico	MTA	TPRO	8.36	76	635.36
1ZAZI8RP4	30/09/2025	17:25:01	Buy	IT.ico	MTA	TPRO	8.36	28	234.08
1ZAZI8S0E	30/09/2025	17:29:55	Buy	IT.ico	MTA	TPRO	8.36	600	5016
1ZAZI8VQW	01/10/2025	09:19:14	Buy	IT.ico	MTA	TPRO	8.25	551	4545.75
1ZAZI8VRR	01/10/2025	09:19:35	Buy	IT.ico	MTA	TPRO	8.28	906	7501.68
1ZAZI8VRS	01/10/2025	09:19:35	Buy	IT.ico	MTA	TPRO	8.285	2,000	16570
1ZAZI8VRT	01/10/2025	09:19:35	Buy	IT.ico	MTA	TPRO	8.285	1,088	9014.08
1ZAZI8VRU	01/10/2025	09:19:35	Buy	IT.ico	MTA	TPRO	8.29	1,037	8596.73
1ZAZI8VRV	01/10/2025	09:19:35	Buy	IT.ico	MTA	TPRO	8.29	54,969	455693







1ZAZI8VRX	01/10/2025	09:19:35	Buy	IT.ico	MTA	TPRO	8.255	1,463	12077.07
1ZAZI8VRY	01/10/2025	09:19:35	Buy	IT.ico	MTA	TPRO	8.255	3,537	29197.94
1ZAZI8VS5	01/10/2025	09:19:38	Buy	IT.ico	MTA	TPRO	8.25	9,449	77954.25
1ZAZI8VSZ	01/10/2025	09:19:57	Buy	IT.ico	MTA	TPRO	8.265	526	4347.39
1ZAZI8VT0	01/10/2025	09:19:57	Buy	IT.ico	MTA	TPRO	8.265	453	3744.045
1ZAZI8VT1	01/10/2025	09:19:57	Buy	IT.ico	MTA	TPRO	8.265	2,089	17265.59
1ZAZI8VT2	01/10/2025	09:19:57	Buy	IT.ico	MTA	TPRO	8.27	5,031	41606.37
1ZAZI8VT3	01/10/2025	09:19:57	Buy	IT.ico	MTA	TPRO	8.27	1,901	15721.27
1ZAZI90N2	01/10/2025	11:32:46	Buy	IT.ico	MTA	TPRO	8.18	1	8.18
1ZAZI90N3	01/10/2025	11:32:46	Buy	IT.ico	MTA	TPRO	8.185	1,832	14994.92
1ZAZI90N4	01/10/2025	11:32:46	Buy	IT.ico	MTA	TPRO	8.185	1,049	8586.065
1ZAZI90N5	01/10/2025	11:32:46	Buy	IT.ico	MTA	TPRO	8.19	967	7919.73
1ZAZI90N6	01/10/2025	11:32:46	Buy	IT.ico	MTA	TPRO	8.19	726	5945.94
1ZAZI90N7	01/10/2025	11:32:46	Buy	IT.ico	MTA	TPRO	8.19	742	6076.98
1ZAZI90N8	01/10/2025	11:32:46	Buy	IT.ico	MTA	TPRO	8.195	964	7899.98
1ZAZI90N9	01/10/2025	11:32:46	Buy	IT.ico	MTA	TPRO	8.195	3,955	32411.23
1ZAZI90NA	01/10/2025	11:32:46	Buy	IT.ico	MTA	TPRO	8.195	4,229	34656.66
1ZAZI90NB	01/10/2025	11:32:46	Buy	IT.ico	MTA	TPRO	8.195	5,045	41343.78
1ZAZI90NC	01/10/2025	11:32:46	Buy	IT.ico	MTA	TPRO	8.195	771	6318.345
1ZAZI90NH	01/10/2025	11:32:53	Buy	IT.ico	MTA	TPRO	8.195	3,255	26674.73
1ZAZI90NP	01/10/2025	11:33:08	Buy	IT.ico	MTA	TPRO	8.195	1,464	11997.48
1ZAZI983T	01/10/2025	14:28:52	Buy	IT.ico	MTA	TPRO	8.14	1,040	8465.6
1ZAZI983U	01/10/2025	14:28:52	Buy	IT.ico	MTA	TPRO	8.14	209	1701.26
1ZAZI983V	01/10/2025	14:28:52	Buy	IT.ico	MTA	TPRO	8.14	1,842	14993.88
1ZAZI983W	01/10/2025	14:28:52	Buy	IT.ico	MTA	TPRO	8.145	956	7786.62
1ZAZI983X	01/10/2025	14:28:52	Buy	IT.ico	MTA	TPRO	8.145	4,354	35463.33
1ZAZI983Y	01/10/2025	14:28:52	Buy	IT.ico	MTA	TPRO	8.145	1,599	13023.86
1ZAZI9FSL	01/10/2025	17:00:52	Buy	IT.ico	MTA	TPRO	8.19	212	1736.28
1ZAZI9FSM	01/10/2025	17:00:52	Buy	IT.ico	MTA	TPRO	8.195	40	327.8
1ZAZI9FSN	01/10/2025	17:00:52	Buy	IT.ico	MTA	TPRO	8.195	6,027	49391.27
1ZAZI9FSO	01/10/2025	17:00:52	Buy	IT.ico	MTA	TPRO	8.195	995	8154.025
1ZAZI9FST	01/10/2025	17:00:52	Buy	IT.ico	MTA	TPRO	8.195	482	3949.99
1ZAZI9FSU	01/10/2025	17:00:52	Buy	IT.ico	MTA	TPRO	8.195	537	4400.715
1ZAZI9FSV	01/10/2025	17:00:52	Buy	IT.ico	MTA	TPRO	8.195	127	1040.765
1ZAZI9G19	01/10/2025	17:06:04	Buy	IT.ico	MTA	TPRO	8.195	1,580	12948.1
1ZAZI9GJD	01/10/2025	17:15:37	Buy	IT.ico	MTA	TPRO	8.195	173	1417.735
1ZAZI9GJE	01/10/2025	17:15:37	Buy	IT.ico	MTA	TPRO	8.195	1,033	8465.435
1ZAZI9GJF	01/10/2025	17:15:37	Buy	IT.ico	MTA	TPRO	8.195	790	6474.05







1ZAZI9GJG	01/10/2025	17:15:37	Buy	IT.ico	MTA	TPRO	8.195	774	6342.93
1ZAZI9GJH	01/10/2025	17:15:37	Buy	IT.ico	MTA	TPRO	8.2	225	1845
1ZAZI9GJI	01/10/2025	17:15:37	Buy	IT.ico	MTA	TPRO	8.2	2,000	16400
1ZAZI9GJJ	01/10/2025	17:15:37	Buy	IT.ico	MTA	TPRO	8.2	1,021	8372.2
1ZAZI9GJK	01/10/2025	17:15:37	Buy	IT.ico	MTA	TPRO	8.2	697	5715.4
1ZAZI9GJL	01/10/2025	17:15:37	Buy	IT.ico	MTA	TPRO	8.2	5,522	45280.4
1ZAZI9GJM	01/10/2025	17:15:37	Buy	IT.ico	MTA	TPRO	8.2	2,765	22673
1ZAZI9GK9	01/10/2025	17:15:59	Buy	IT.ico	MTA	TPRO	8.195	110	901.45
1ZAZI9GKA	01/10/2025	17:15:59	Buy	IT.ico	MTA	TPRO	8.195	980	8031.1
1ZAZI9GKB	01/10/2025	17:15:59	Buy	IT.ico	MTA	TPRO	8.195	162	1327.59
1ZAZI9GKC	01/10/2025	17:15:59	Buy	IT.ico	MTA	TPRO	8.2	535	4387
1ZAZI9GKD	01/10/2025	17:15:59	Buy	IT.ico	MTA	TPRO	8.2	4,478	36719.6
1ZAZI9GKE	01/10/2025	17:15:59	Buy	IT.ico	MTA	TPRO	8.2	1,295	10619
1ZAZI9GKF	01/10/2025	17:15:59	Buy	IT.ico	MTA	TPRO	8.2	976	8003.2
1ZAZI9GKG	01/10/2025	17:15:59	Buy	IT.ico	MTA	TPRO	8.2	163	1336.6
1ZAZI9GKH	01/10/2025	17:15:59	Buy	IT.ico	MTA	TPRO	8.2	1,301	10668.2
1ZAZI9H78	01/10/2025	17:25:46	Buy	IT.ico	MTA	TPRO	8.215	1,340	11008.1
1ZAZI9H79	01/10/2025	17:25:46	Buy	IT.ico	MTA	TPRO	8.215	195	1601.925
1ZAZI9H7B	01/10/2025	17:25:46	Buy	IT.ico	MTA	TPRO	8.215	8	65.72
1ZAZI9H7C	01/10/2025	17:25:47	Buy	IT.ico	MTA	TPRO	8.215	318	2612.37
1ZAZI9H7Q	01/10/2025	17:25:53	Buy	IT.ico	MTA	TPRO	8.215	3,139	25786.89
1ZAZIA2RQ	02/10/2025	16:51:23	Buy	IT.ico	MTA	TPRO	8.61	62	533.82
1ZAZIA2RR	02/10/2025	16:51:23	Buy	IT.ico	MTA	TPRO	8.61	521	4485.81
1ZAZIA2RS	02/10/2025	16:51:23	Buy	IT.ico	MTA	TPRO	8.61	417	3590.37
1ZAZIA4M1	02/10/2025	17:29:38	Buy	IT.ico	MTA	TPRO	8.61	1,000	8610